
Time: 10 Minutes Paper Math 5 (T-1) Total Marks: 10

1st Month, 4th Week, 5th Day Unit # 1

Q.No.1. Choose the correct option. (0.5 × 6 = 3) Šg„WB»ZN[™,X
i) The next term of the pattern is: 10,40,160,_______

_______,160,40,10 %%%%ääää~~~~ZZZZ‹‹‹‹gggg¶¶¶¶ìììì::::
(a) 620 (b) 640 (c) 680 (d) 700

ii) The next three terms of the patterns are:400 000, 40 000, 4 000,--------

------,--,-----,4000,40 000, 400,000 %%%%ääääÅÅÅÅZZZZ‹‹‹‹&&&&ggggSSSS÷÷÷÷::::
(a) 4 000, 400,40 (b) 40 000,4000,400 (c) 400,40, 4 (d) None of these

iii) When we divide a number by ______ we remove one zero from the 

right side. ÐÐÐÐ„„„„™™™™DDDD÷÷÷÷ÂÂÂÂZZZZkkkkÆÆÆÆŠŠŠŠZZZZNNNN§§§§ssss»»»»ZZZZqqqq----####UUUUŠŠŠŠïïïï÷÷÷÷XXXX _______ ZZZZ####ëëëëËËËË°°°°ŠŠŠŠÃÃÃÃ
(a) 10 (b) 100 (c) 1 000 (d) 1

iv) In 986 201, the digit________ is at ten thousands place.

yyyy����ŠŠŠŠkkkkDDDDÙÙÙÙZZZZggggÆÆÆÆ££££xxxx6666,,,,ììììXXXX ___________~~~~986 201

(a) 8 (b) 9 (c) 6 (d) 2

v) The difference of 554 876 and 263 755 is:

»»»»����ÛÛÛÛttttìììì:::: 263 755 ZZZZzzzzgggg 554 876

(a) 291 120 (b) 291 119 (c) 291 121 (d) 291 118

vi) When we divide 210 000 by 1 000 we get:

6666,,,,„„„„™™™™ääääÐÐÐÐqqqqÝÝÝÝƒƒƒƒ@@@@****ìììì::::  1 000ÃÃÃÃ 210 000

(a) 21 000 (b) 2 100 (c) 21 (d) 210

Q.No.2. Write the following number in words. (1×2 = 2)

ŠŠŠŠgggg̀`̀̀ffffssssZZZZ°°°°ZZZZŠŠŠŠÃÃÃÃZZZZÖÖÖÖpppp~~~~KKKKXXXX
(i) 965 123 (ii) 912 011

Q.No.3.Identify the rules of the patterns and also find the next 3

terms.352,176,88,___,___,___
(1 × 2 = 2)

.___,___,___88,176,352 %%%%ääääÆÆÆÆZZZZßßßßwwwwÅÅÅÅ¶¶¶¶KKKK0000++++„„„„™™™™,,,,ZZZZzzzzggggZZZZ‹‹‹‹&&&&ggggSSSSKKKKXXXX
__________________________________________________________________

__________________________________________________________________

Q.No.4.The price of a scanner is Rs.62 900 and the price of a laser printer is

Rs. 96 880.Find the total price of 15 scanners and 3 laser printers. (1×3 =3)

9999gggg6666,,,,ÚÚÚÚÅÅÅÅÀÀÀÀ7777¥¥¥¥xxxx 3 \\\\iiiiZZZZzzzzgggg 15 ggggzzzz9999ììììXXXX 96 880 ggggzzzz9999ZZZZzzzzggggZZZZqqqq----9999gggg6666,,,,ÚÚÚÚÅÅÅÅ7777 62 900 ZZZZqqqq----\\\\ÅÅÅÅ7777

™™™™,,,,XXXX
__________________________________________________________________

__________________________________________________________________
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